

$$2\frac{5}{11} - 1\frac{3}{8} =$$

$$5\frac{7}{11} - 1\frac{7}{10} =$$

$$5\frac{1}{11} - 3\frac{6}{7} =$$

$$3\frac{1}{5} - 1\frac{8}{11} =$$

$$7\frac{5}{7} - 2\frac{7}{11} =$$

$$6\frac{3}{11} - 5\frac{3}{11} =$$

$$8\frac{5}{9} - 2\frac{9}{10} =$$



26 | gemengde breuken met ongelijke noemers aftrekken

$$2\frac{5}{11} - 1\frac{3}{8} = 2\frac{40}{88} - 1\frac{33}{88} = 1\frac{7}{88}$$

$$5\frac{7}{11} - 1\frac{7}{10} = 5\frac{70}{110} - 1\frac{77}{110} = 4\frac{180}{110} - 1\frac{77}{110} = 3\frac{103}{110}$$

$$5\frac{1}{11} - 3\frac{6}{7} = 5\frac{7}{77} - 3\frac{66}{77} = 4\frac{84}{77} - 3\frac{66}{77} = 1\frac{18}{77}$$

$$3\frac{1}{5} - 1\frac{8}{11} = 3\frac{11}{55} - 1\frac{40}{55} = 2\frac{66}{55} - 1\frac{40}{55} = 1\frac{26}{55}$$

$$7\frac{5}{7} - 2\frac{7}{11} = 7\frac{55}{77} - 2\frac{49}{77} = 5\frac{6}{77}$$

$$6\frac{3}{11} - 5\frac{3}{11} = 1\frac{0}{11} = 1$$

$$8\frac{5}{9} - 2\frac{9}{10} = 8\frac{50}{90} - 2\frac{81}{90} = 7\frac{140}{90} - 2\frac{81}{90} = 5\frac{59}{90}$$

